Physics

Examination II


For this examination, you may use your book, notes, the Internets and other resources but you may not use other individuals. Be sure to answer each question fully and completely using nouns, verbs and –ly words to document your path to solution. Include your Name, Date, Period, and Assignment Name.

	
	MidTerm
1st Quarter
	1st 
Quarter

	Overarching Process
	4
	

	7 Systemic Parts of Physics
	3
	

	Your Ability to Test
	2
	

	Science Fair
	1
	

	Growth
	2
	

	Experimentation
	3
	

	Journal
	4
	

	
	
	


1. Calculate the Sally’s grade for her e-Portfolio and give a scenario that would give her a B in Physics for the 1st Quarter with the least amount of work on her part since she is a Low Rider.


2. If the Basketball had 3 times its diameter, how much would it hold?
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3. If I said 21 liters to question 2, what would my Percent Error be according to your program?

4.  How would you need to move in front of the CBR2 to get this graph?
          [image: image2.png]



5. Given the data below for 21 trials with my stopwatch on 21.0 seconds, answer the following questions. All values are in seconds.
	14.6
	13.6
	14.4
	13.0
	13.1
	14.4
	14.7
	14.6
	14.9
	14.0
	13.1

	14.3
	14.8
	13.1
	13.8
	15.0
	13.4
	14.5
	14.3
	14.6
	13.3
	


· How well did I do?

· Make a plot to show my data.

6. What would the graph look like if you followed the script below with the CBR2?
Stand up at 2 meters in front of the CBR2 and then after a bit move toward the probe rapidly, stop and walk back.
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7. Who won the Nobel Pease Prize in Physics this year and which of the 7 Systemic Parts of Physics would they put the prize in for their e-Portfolio? Why?
8. What date will it be when 2E6 days pass? When is Now? 
9. What do the thermodynamic laws have to do with motion?
10. Do a Point Plot for the motion of Sputnik over at least one orbit.
11. How did you make the X?

12. How is tautology a Word of Physics? 




13. Solve the following for R4 if: R = 8 (; R1= 30 (; R2 = 20 (; and R3 = 60 (.
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